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log L/∆L  Leuchtdichte-Kontrast-
EmpfindlichkeitsschwelleLg=0,1cd/m2

pco=0,3

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A 0,39 0,41

F=A1(F3’/F3+F4’/F4); =L/ ∆L 

LI 0,4s A
equation

A1=20.61
A2=1.11
A3=1.0
A4=0.33
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log L/∆L  Leuchtdichte-Kontrast-
EmpfindlichkeitsschwelleLg=1cd/m2

pco=0,3
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x=logL

x y
A 0,39 0,41

F=A1(F3’/F3+F4’/F4); =L/ ∆L 

LI 0,4s A
equation

A1=25.89
A2=0.31
A3=1.0
A4=0.33
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log L/∆L  Leuchtdichte-Kontrast-
EmpfindlichkeitsschwelleLg=10cd/m2

pco=0,3
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x=logL

x y
A 0,39 0,41

F=A1(F3’/F3+F4’/F4); =L/ ∆L 

LI 0,4s A
equation

A1=32.52
A2=−0.49
A3=1.0
A4=0.33
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log L/∆L  Leuchtdichte-Kontrast-
EmpfindlichkeitsschwelleLg=100cd/m2

pco=0,3
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x=logL

x y
A 0,39 0,41

F=A1(F3’/F3+F4’/F4); =L/ ∆L 

LI 0,4s A
equation

A1=40.91
A2=−1.29
A3=1.0
A4=0.33
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log L/∆L  Leuchtdichte-Kontrast-
EmpfindlichkeitsschwelleLg=1000cd/m2

pco=0,3
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x=logL

x y
A 0,39 0,41

F=A1(F3’/F3+F4’/F4); =L/ ∆L 

LI 0,4s A
equation

A1=51.84
A2=−2.11
A3=1.0
A4=0.33


